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GHQJDQ� 3HQGHNDWDQ� 9DOXH�
(QKDQFHPHQW� &KDLQ ± 6WXGL� .DVXV�
7HUKDGDS�3W�%XNLW�$VDP��7EN��

3RNRN 3HUPDVDODKDQ ��

+DUJD� VDKDP� VHGLNLW� EDQ\DN� PHUHSUHVHQWDVLNDQ� NLQHUMD�
SHUXVDKDDQ� VHFDUD� NHVHOXUXKDQ�� 6HKLQJJD�� PHQMDGL� SHQWLQJ� EDJL� SDUD�
VKDUHKROGHU GDQ� VWDNHKROGHU XQWXN� PHQJHWDKXL� EHUDSD� QLODL� ZDMDU� �IDLU
YDOXH�� GDUL� VHEXDK� VDKDP�� 37� %XNLW� $VDP�� 7EN� VDODK� VDWX� SHUXVDKDDQ�
WDPEDQJ�EDWXEDUD�WHUEDLN�GL�,QGRQHVLD��PHPLOLNL�KDUJD�VDKDP�\DQJ�PDVLK�
XQGHUYDOXH�� 6DDW� LQL� KDUJD� VDKDPQ\D� EHUJHUDN� SDGD� NLVDUDQ� 5S��������
KLQJJD� �������� VHPHQWDUD�� EHUGDVDUNDQ� SHQJKLWXQJDQ� \DQJ� WHODK�
GLODNXNDQ�� QLODL� ZDMDU� GDUL� VDKDP� WHUVHEXW� DGDODK� VHEHVDU� 5S� ��������
$UWLQ\D��PDUNHW YDOXH VDKDP� LQL�PDVLK� GLQLODL� WHUODOX� UHQGDK� ROHK� SDVDU��
.HWLND�VDKDP�LQL�PDVLK�GLQLODL�WHUODOX�UHQGDK�ROHK�SDVDU��PDND�SRVLVL�QLODL�
SHUXVDKDDQ� DNDQ� GLQLODL� WHUODOX� UHQGDK� SXOD�� 0HVNL� VHEHQDUQ\D� QDLN�
WXUXQQ\D�KDUJD�VDKDP�GL�EXUVD�OHELK�EDQ\DN�GLSHQJDUXKL�ROHK�RSLQL�SDVDU��
SHUOX�GLODNXNDQ�VXDWX�XVDKD�XQWXN�PHQLQJNDWNDQ�QLODL�SHUXVDKDDQ�VHFDUD�
IXQGDPHQWDO�� \DQJ� DNDQ� EHUXMXQJ� SDGD� SHQLQJNDWDQ� PDUNHW YDOXH GDUL�
SHUXVDKDDQ�SXOD��

3HQHOLWLDQ� LQL�EHUWXMXDQ�XQWXN�PHQJJDPEDUNDQ�EDJDLPDQD�VWUDWHJL�
\DQJ� WHSDW� XQWXN�PHQLQJNDWNDQ� QLODL� SHUXVDKDDQ�� \DLWX� 37� %XNLW� $VDP��
7EN�� VHFDUD� IXQGDPHQWDO�� $GDSXQ� SHQGHNDWDQ� \DQJ� GLODNXNDQ� GDODP�
SHQHOLWLDQ�LQL�DGDODK�SHQGHNDWDQ 9DOXH�(QKDQFHPHQW�&KDLQ� %HUGDVDUNDQ�
DQDOLVLV�\DQJ�WHODK�GLODNXNDQ��VWUDWHJL�\DQJ�GDSDW�GLODNXNDQ�37%$ DGDODK�
GHQJDQ�PHQLQJNDWNDQ� FDVK� IORZ� GDQ�PHQXUXQNDQ� FRVW� RI� FDSLWDO� VHVXDL�
GHQJDQ� YDOXH� HQKDQFHPHQW� FKDLQ�� VHKLQJJD�� KDUJD� VDKDP�37%$� GDSDW�
GLWLQJNDWNDQ�KLQJJD�5S���������GHQJDQ�QLODL�HNXLWDV�VHEHVDU�5S����7ULOLXQ�

.DWD NXQFL��YDOXH�HQKDQFHPHQW��FRUSRUDWH�YDOXDWLRQ��GLVFRXQWHG�FDVK�
IORZ�IUDPHZRUN� EDWXEDUD
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6WRFN� SULFH� LV� DQ LQGLFDWRU� WR� PHDVXUH� D� FRPSDQ\¶V� SHUIRUPDQFH�� ,W� LV�
LPSRUWDQW�IRU�VWDNHKROGHUV�DQG�VKDUHKROGHUV�WR�ILQG�RXW�WKH�IDLU�YDOXH�RI�WKH�
FRPSDQ\�VWRFN�SULFH��DV�ZHOO�DV�LWV�RSWLPXP�YDOXH��,Q�WKLV�SHULRG�RI� WLPH��
37� %XNLW� $VDP�� 7EN� �37%$�� RQH� RI� ,QGRQHVLD� OHDGLQJ� FRDO� PLQLQJ�
FRPSDQ\�� KDV� LWV VWRFN� WUDGHG� DW� 5S� ������� ± 5S� �������� 0HDQZKLOH��
EDVHG� RQ� WKH� VWRFN� YDOXDWLRQ� DQDO\VLV�� WKLV� VWRFN� KDV� IDLU� YDOXH� DW� 5S�
�������� PHDQLQJ� WKDW� WKH� PDUNHW� YDOXH� RI� WKLV� VWRFN� ZDV EHLQJ�
XQGHUYDOXHG�� 7KHUHIRUH�� WKHUH� VKRXOG� EH� D� VWUDWHJLF� SODQ� WR� HQKDQFH� LWV�
YDOXH� WR� UHDFK� LWV� RSWLPXP� YDOXH�� 7KLV� VWXG\� DLP� WR� GLVFRYHU� WKH� EHVW�
VWUDWHJ\� WR�HQKDQFH� WKH�HTXLW\� YDOXH�RI�37%$�XVLQJ� YDOXH�HQKDQFHPHQW�
FKDLQ�� %DVHG� RQ� WKH� DQDO\VLV� WKDW� KDG� EHHQ� FRQGXFWHG�� WKH� VWUDWHJ\� WR�
HQKDQFH�37%$�YDOXH�ZDV�WR�LQFUHDVH�FDVK�IORZ�DQG�GHFUHDVH�WKH�FRVW�RI�
FDSLWDO�EDVHG�RQ�WKH�YDOXH�HQKDFHPHQW�FKDLQ��ZKLFK�UHVXOWLQJ�WKH�RSWLPXP�
YDOXH�RI�37%$�DW 5S����7ULOOLRQ�RU�5S��������SHU�VKDUH������

.H\ZRUGV��YDOXH�HQKDQFHPHQW��FRUSRUDWH�YDOXDWLRQ��GLVFRXQWHG�FDVK�IORZ�
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